LPDC—JCR68 % 7@

1=F 2 ——EeY GEREA B, g g

J=90 (98 S W 1 3% 8 5 9 e %) v ep R
(667 i76|7 5 |63654|3-|667i76|7 5 [54657]6-)
667i7|6 3 |667i7|6-|6671i7|6 3 |

R R R T R R R, RERR R R R T
2

667i7|6-]66123[%.22 [661238]%-|
R R R LANK—h F O BERAL %,
2y —B R F BEH AR K,

so12s|z2 [2i217]0-|easea] o g56)

RN W F HE BT &, L EMLBOLF F
RN BB B F e BT Rk, #HLEHREOLF F

K43 .4 L *x, REAHm#HKbLZ E L FHIHF L Fo
KA HEL Rk, RExHALEZ R £ F3 HIL k.

532154|3-|661233[3.22 [g1217]6-1

667i7|6 3 |667i7|6-|667i7|6 3 |
wokk kR R T RuERE R, RRRRE R 7

667i7/|6- |
R R R

_1/1__



